A

SN SAXRD
I AYRSAUARYD(SEHL /5 - 5&)
Sol: SIS L ASOHH EERECE]
_ _ HE T
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
SAXI D 61,393,235 60,835,939 557,296
= 30,477,506
2 21,495, 166
p 1,700,000
< 7,720,563
AYRSAMY D (SLHY LM /5 - 5E) 35,728,236 29,945,648 5,782,588
= 27,777,506
2 1,734,000
p 1,700,000
= 4,516,730
S| HE L ASOHN 11,781,604 9,990,762 1,790,842
= 10,261,734
= 1,519,870
SI12 LA (D) 3,420,000 3,120,000 300,000
= 2,850,000
= 570,000
403 KX SHSIHE0IH 3,420,000 3,120,000 300,000
= 2,850,000
= 570,000
01 RXSHR=LE 3,420,000 3,120,000 300,000
OSIIHLTHAN (542 ) 3,420,000
= 2,850,000
= 570,000
ZAZXNANEMAIL (2 D) 8,045,854 6,770,762 1,275,002
= 7,411,734
= 634,120
201 Ypre | 5,500 0 5,500
= 5,500
01 At 2teltl 1,500 0 1,500
OZF A2 X S M ™ & 8l (2 X KIE3005 ) 1,500
= 1,500
03 A2 4,000 0 4,000
OZXAS2IHEM A &3 4,000
= 4,000
202 01l 5,000 4,000 1,000
= 5,000
01 =UHoiHl 5,000 4,000 1,000
OFAZRIXNANEHZX 5,000
= 5,000
301 s BAZ 4,000 0 4,000
= 4,000
10 #AAH 23 4,000 0 4,000
OZFAS2IXIE E /SIS 4,000
= 4,000
308 XiXIEHH SOl & 8,031,354 6,766,762 1,264,502




SN

S AR
A AYHSAYLND(SLHL /5 - 5E)
Sl SIINE L ASOHE (el &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
= 7,397,234
= 634, 120
01 RXNSHBABES 8,031,354 6,766,762 1,264,502
OXAE2NANEH 2SI (21,272ha) 7,920,319
2 7,295,029
= 625,290
oxAEANAXSH (BT 111,035
2 102,205
= 8,830
e OELIES 22,500 30,000 AT7,500
403 THXIEHRIS Kb 0] 22,500 30,000 AT7,500
01 RXISHTZLDE 22,500 30,000 AT7,500
OBl =X H 2 2144 8 (150H) 22,500
s)1HB2 293,250 70,000 223,250
202 01t 10,000 10,000 0
01 2Uhoitl 10,000 10,000 0
OsIIANHLLSAHHFT 10,000
403 XX SIS XHE 0l 283,250 60,000 223,250
01 KXISHAXZEE 283,250 60,000 223,250
048=IIH 32 N 158,250
02171 (80CH) 24,000
O 44248 2711 (70CH) 26,250
Ol BI4 I (1500H ) 108,000
OsJIHE2 L WAL X 125,000
MRS MM RSIIE X4 1,041,400 3,813,200 ~2,771,800
2 150,000
= 891,400
DEIN MM RS 416,600 341,100 75,500
202 01t 6,600 6,600 0
01 2UhoiHl 6,600 6,600 0
OAYRSMURSIIBZTY =7 6,600
308 XX EHHISOI & 75,000 120,000 45,000
01 RXNSHBABES 75,000 20,000 45,000
ODEIH MK X4 (500a) 75,000
403 RHXISHH SR 20| 335,000 214,500 120,500
01 RXISHTZDE 335,000 214,500 120,500
OB SRAIL KA(1025) 112,500
ORMLAH BSAXI| B2 (150H) 22,500
0JISH & MaAE XY 200,000
AX2EA A 257,600 307,600 A50,000
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A SAXR D
HH: AXNSAUAN D (SHHLSN/ 5 - 58)
ce: A=Y F4 (&te @
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
SIEH2 IK(=21) 12,346,400 9,312,500 3,033,900
= 11,739,200
[= 607,200
308 XXISHHESOIA 12,346,400 9,312,500 3,033,900
= 11,739,200
[= 607,200
01 IXNSHBIAEES 12,346,400 9,312,500 3,033,900
OKIIEHZES (202 43 E) 12,346,400
= 11,739,200
[= 607,200
ESNSH EXZA(2D) 4,567,061 3,559,110 1,007,951
= 4,248,430
[= 318,631
308 XXISHHSOI® 4,567,061 3,559,110 1,007,951
= 4,248,430
[= 318,631
01 IXSHILAEES 4,567,061 3,559,110 1,007,951
OE LIHEM X (39,000€) 4,567,061
= 4,248,430
[= 318,631
HSASAXN PREALAIA(2D) 2,254,200 1,196,000 1,058,200
2 1,734,000
[= 520,200
403 XXIESHSXH=0lE 2,254,200 1,196,000 1,058,200
= 1,734,000
[= 520,200
01 MXESHA=EX 2,254,200 1,196,000 1,058,200
OASHASAXPREZA (6MA) 2,254,200
= 1,734,000
[= 520,200
FHESHENSYMAIE(2D) 239,200 243,600 A4,400
= 184,000
[= 55,200
308 AXIESHSOIA 239,200 243,600 A4,400
= 184,000
[= 55,200
01 MXSHIANEEX2 239,200 243,600 4,400
OXXEE= Ho=e M X (120ha) 239,200
= 184,000
[= 55,200
DIMEHNES2LHNSLH(2D) 72,800 0 72,800
= 56,000
[~ 16,800
308 XMXIESHHSOIA 72,800 0 72,800
= 56,000
[= 16,800




SN S D
HE: APRSAYAYD(SPHYLL/5Y - 5&)
ool AEASY 4 (sl &
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 O] Ak 4 Sl ko HRs2
01 XS MBLEEXS 72,800 0 72,800
ODIMSHI 28 oS 2UR (138ha) 72,800
= 56,000
= 16,800
EE sdtE RS 135,800 191,800 256,000
202 O4H| 7,800 7,300 500
01 =Wl 7,800 7,300 500
OABASANY =7 7,800
308 NXEHHSOIH 30,000 48,000 A 18,000
01 MHXSHIAEEXZ 30,000 48,000 218,000
OFEE sMESE LETH(202H0H) 30,000
403 THXISHHIS K0 98,000 136,500 38,500
01 RXESHMA2E = 98,000 136,500 238,500
OABASAS TSSRUH 50,000
OABANEZISHE SSALTY (3HL) 48,000
s AEI|E &5 106,500 149,400 242,900
403 AXIHHSA=01H 106,500 149,400 A 42,900
01 TXISHKEEE 106,500 149,400 A42,900
Oz E Nsad 0ISZH(7HA) 76,500
OHBLSANES AZMMAIL XA (6IH2) 30,000
AEA I 22 66,000 50,400 15,600
308 XX HHSO0IA 66,000 50,400 15,600
01 XM EExS 66,000 50,400 15,600
Oz Ed SN 3= (200ha) 36,000
OB OH0I ot Kyl X & 30,000
etdsg s 51,500 122,000 270,500
307 212t01& 20,000 23,000 23,000
04 QIHHALE X 20,000 23,000 A 3,000
CHEEESEE R 20,000
308 NXIEHHSOIH 31,500 73,500 A42,000
01 MXSHILEEXZ 31,500 73,500 A 42,000
OHBTSAZS ASSZHI(8402) 31,500
=HI&2 EXNUXA(2D) 1,365,771 1,276,876 83,695
= 1,138,142
= 227,629
308 XX HHSO0IA 1,365,771 1,276,876 88,895
= 1,138,142
= 227,629
01 MXSHBAEEXZ 1,365,771 1,276,876 88,895




SN SATED
By YDA
ol HEE s

;
Jo
=
or
o
%
02
1
£
i
R
i
+

_ _ _ N E
SN B ER(BH) - NREAY - BHES Of] & o e HRZ2

O=HIZSE XTI X/ (9,607ha) 1,365,771
= 1,138, 142
= 227,629

HEY=ANRHE (2 D) 1,700,000 0 1,700,000
p 1,700,000

402 QI2IXHE0|H 1,700,000 0 1,700,000
p 1,700,000

01 PAX=EE 1,700,000 0 1,700,000
ORSY =AY 1,700,000
p 1,700,000

SMADIE A (SHHSS/5Y - 5&) 23,921,628 29,296,920 ~5,375,292
= 2,700,000
2 19,761,166
= 1,460,462

NN ZLTIHA Y 7,512,000 12,914,225 A5,402,225
= 2,700,000
2 4,202,000
= 610,000

SolMAL JIBIEYE R (SAER) 500,000 2,200,000 1,700,000
2 500,000

402 QIR0 H 500,000 2,200,000 A1,700,000
2 500,000

01 PR =X 500,000 2,200,000 A 1,700,000
ONESSZ LML A (24X ) 500,000
2 500,000

HH 2O ALY (2 D) 2,700,000 3,000,000 300,000
= 2,700,000

402 QI2HXH=0|F 2,700,000 3,000,000 300,000
= 2,700,000

IR 2,700,000 3,000,000 300,000
OB 20 & A (2IH X1 ) 2,700,000
= 2,700,000

SRS MBS (SASZS) 1,085,000 1,632,000 547,000
z 1,085,000

403 RXISHSREZ0lH 1,085,000 1,632,000 547,000
2 1,085,000

01 HXSHELEE 1,085,000 1,632,000 547,000
OsZ== - MBS (12HK7) 1,085,000
2 1,085,000

SAMA JIBHE| (SAER) 963,000 2,470,000 A 1,507,000
2 963,000

403 KX A S X201 H 963,000 2,470,000 A 1,507,000
2 963,000

01 MXSHR=LE 963,000 2,470,000 A 1,507,000




S SAXRD
B SMAD|E KA (SHHSL/EY - 5E)
ol OIEX S4BT =Y (el &
SH-EH . O3 - MBAY - BAS 0l &b o Soe HRZ2
OATHRE SN (3MXR) 963,000
2 963,000
=2lAlE HE = 610,000 400,000 210,000
403 XMXISHMS K20l A 610,000 400,000 210,000
01 XAIXIESHHMAZ2EER 610,000 400,000 210,000
O=clAlE HE= 610,000
SESY MBS (o) 354,000 0 354,000
= 354,000
403 XX SHHSK=201H 354,000 0 354,000
& 354,000
01 XIXIESHMAZ2E xR 354,000 0 354,000
OsUSE - MEELINL (120X F) 354,000
& 354,000
SSMA DA (&8HE) 300,000 0 300,000
= 300,000
403 KXIEMSK=201A 300,000 0 300,000
= 300,000
01 AIXSHHMAZ2EE 300,000 0 300,000
OAREELIML(3MXIR) 300,000
= 300,000
SHMA JIBIEH| =X (SHOHR) 1,000,000 0 1,000,000
= 1,000,000
402 SIZ2tX=201A 1,000,000 0 1,000,000
= 1,000,000
01 222X 1,000,000 0 1,000,000
OXNES=SB LML A (2OHXIF) 1,000,000
= 1,000,000
S AD|HE A H| 16,409,628 16,382,695 26,933
= 15,559, 166
= 850,462
SHMA JIBHEHI KR (=21D) 11,674,628 16,382,695 A4,708,067
= 10,824, 166
& 850,462
202 (4 20,000 20,000 0
01 =2l 20,000 20,000 0
OUFEHXAHANY =& S 20,000
403 KXIEMS K201 11,654,628 16,362,695 N4,708,067
= 10,824, 166
= 830,462
01 MXSHX2EX 11,654,628 16,362,695 A4,708,067
O AKX He|AF (220 Xl =+ /158ha) 2,555,775
2 2,382,000
== 173,775




SN SAXSD
I SHMADIE Y (SEHLSM/5Y - 5E)
CHol: e AlAD|BE F| SE L]
_ _ SIEN
N33 S2(3H) - MEAMY - BES e @ﬂOH Hlw &2
O I8 HHI AL (774 X 72/492ha) 9,098,853
2 8,442, 166
= 656,687
PEEREEEESCEIEY 3,154,000 0 3, 154,000
2 3, 154,000
403 X+XISHAIS KH2 0l & 3, 154,000 0 3, 154,000
2 3, 154,000
01 RXESHIZEE 3, 154,000 0 3, 154,000
O H 82 = 2T & AL (39K XI 72 /55km) 3, 154,000
2 3, 154,000
IS AR TR (SAES) 1,581,000 0 1,581,000
2 1,581,000
403 XHXISHHISAH2 0l & 1,581,000 0 1,581,000
2 1,581,000
01 RXSHMX=LE 1,581,000 0 1,581,000
Ol 5h 2 = 2 = 1 & (3974 XI 7 /55km) 1,581,000
2 1,581,000
HH2SYAY (SAXIR D) (OIEHIIEH 28,035 28,035 0
o122l 28,035 28,035 0
SN2HI|=H 28,035 28,035 0
201 Ysre | 20,835 20,835 0
01 At2elt| 20,835 20,835 0
ORN2Y AR 20,835
202 01| 7,200 7,200 0
01 =01l 7,200 7,200 0
SN2 2ol 7,200
PSS (SANAD) (SHHS /5 - 5&) 1,715,336 1,565,336 150,000
SHXE 1,715,336 1,565,336 150,000
THRER O1F T4 1,715,336 1,565,336 150,000
311 XHUZ0IRHA & 1,565,336 1,565,336 0
01 Al - SXIHHL ISR 20| K4tk 800,000 800,000 0
OLNASH 01NEH 800,000
06 JIEFHEIZ 0l KH AL & 765,336 765,336 0
OLNASH 0INZEH 765,336
601 XtBAIAE 150,000 0 150,000
01 Al - EXIHHLIISRY SV S a8 150,000 0 150,000
OLNASH 01NEH 150,000




